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LÃ[˝”Ã[˝› ◊X„V¤` / Important Instruction 

%ÁGÁ]› ◊`l˘Á[˝bÔÁ‹ôˆ YÃ[˝›l˘ÁÃ^ (T.E. Exam.) XT«ˆX [˝Ó[˝ÿöˆÁ %UÔÁd Y“`¬ac˜ =w¯Ã[˝ Y«◊ÿôˆEıÁ (QPAB) Y“[˝Tˆ¤X EıÃ[˝Á c˜„[˝* 
Ac˜O XT«ˆX [˝Ó[˝ÿöˆÁÃ[˝ aÁ„U YÃ[˝›l˘ÁUfi„VÃ[˝ %\ˆÓÿöˆ EıÃ[˝ÁÃ[˝ LXÓ [˝Tˆ¤]ÁX %X«`›_X Y‰y Y“◊Tˆ◊ªRÙO Y“‰`¬Ã[˝ ◊X„V¤` %X«^ÁÃ^› 
◊X◊V¤rÙ ÿöˆÁ„Xc˜O =w¯Ã[˝ ◊V„Tˆ c˜„[˝* 
New system i.e. Question Paper Cum Answer Booklet (QPAB) will be introduced in the 
coming Term End Examination. To get the candidates acquainted with the new system, 
now assignment answer is to be given in the specific space according to the instructions. 

Detail schedule for submission of assignment for the 
BDP Term End Examination December-2019 & June-2020 

1. Date of Publication : 14/02/2020 

2. Last date of Submission of answer script  by the student to the study 
centre : 07/03/2020 

3. Last date of Submission of marks by the examiner to the study centre : 08/04/2020 

4. Date of evaluated answer scripts distribution by the study centre to 
the students (Students are advised to check their assignment marks 
on  the evaluated answer scripts and marks lists in the study centre 
notice board. If there is any mismatch / any other problems of marks 
obtained and marks in the list, the students should report to their 
study centre Co-ordinator on spot for correction. The study centre is 
advised to send the corrected marks, if any, to the COE office within 
five days. No changed / correction of assignment marks will be 
accepted after the said five days. 

 
 
 
 
 
 
: 18/04/2020 

5. Last date of submission of marks by the study centre to the 
Department of C.O.E. on or before 

 
: 20/04/2020 
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1. Â^-ÂEıÁ„XÁ V«'◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX (Y“◊Tˆ◊ªRÙO %X◊W˝Eı 300 `„å) f 20 × 2 = 40 

 Answer any two questions (not more than 300 words each) : 

a) %UÔÍX◊TˆEı a] ◊à˘ [˝_„Tˆ ◊Eı Â[˝ÁMıÁÃ^ ? %UÔÍX◊TˆEı a] ◊à˘Ã[˝ ÿôˆÃ[˝ [˝ÓÁFÓÁÃ^ ]ÁjÔ C Ã[˝‰∫RÙOÁÃ[˝ ]Tˆ[˝Á„VÃ[˝ 

YÁUÔEıÓm◊_ %Á„_ÁªJÙXÁ EıÃ[˝”X * 5 + 15 
 What is meant by economic growth ? What are the differences in the Marxian and 

Rostowian theories in explaining stages of economic growth ? 

b) %Á]VÁ◊X-Y“◊TˆÿöˆÁYX [˝_„Tˆ ◊Eı Â[˝Á„MıX ? %Á]VÁ◊X-Y“◊TˆÿöˆÁY„XÃ[˝ Y„l˘ C ◊[˝Y„l˘ ^«◊N˛m◊_ %Á„_ÁªJÙXÁ 

EıÃ[˝”X * 5 + 15 
 What do you mean by import-substitution ? Discuss the arguments for and against 

import-substitution. 

c) Y“E ıTˆ Â[˝EıÁÃ[˝ ÂEı ? ªK˜≤ø„[˝`› Â[˝EıÁÃ[˝„±ºˆÃ[˝ Y◊Ã[˝]ÁY Eı›\ˆÁ„[˝ EıÃ[˝Á Â^„Tˆ YÁ„Ã[˝ ? 5 + 15 
 Who is really unemployed ? How can disguised unemployment be measured ? 

d) [˝Á◊SLÓ ZgıÁEı Eı› ? [˝Á◊SLÓ ZgıÁEı Y…Ã[˝„S [˝Á◊SLÓ XÁ aÁc˜Á^Ó — ÂEıÁX◊ªRÙO Â[˝◊` EıÁ◊ÖTˆ ?  5 + 15 
 What is 'trade-gap' ? In bridging this gap, which one is more desirable — trade or 

aid ? 

  

Y“U] =w¯Ã[˝ / First Answer : 
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◊•Tˆ›Ã^ =w¯Ã[˝ / Second Answer : 
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2. Â^-ÂEıÁ„XÁ ◊TˆX◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX (Y“◊Tˆ◊ªRÙO %X◊W˝Eı 180 `„å) f 12 × 3 = 36 

 Answer any three questions  (not more than 180 words each) : 

a) %UÔÍX◊TˆEı =~Ã^„X Ã[˝äÁ◊XÃ[˝ \…ˆ◊]EıÁ %Á„_ÁªJÙXÁ EıÃ[˝”X * 12 
 Discuss the role of export in economic development. 

b) ◊`î aeÃ[˝l˘S [˝_„Tˆ Eı› Â[˝Á„MıX ? %ÁY◊X ◊Eı ◊`î aeÃ[˝l˘S„Eı a]UÔX Eı„Ã[˝X ? 2 + 10 
 What do you mean by protection of industries ? Do you support such industrial 

protection ? 

c) ]ÓÁ◊ÆœÙj ◊[˝YÃ[˝›TˆEıÃ[˝S Yà˘◊Tˆ %Á„_ÁªJÙXÁ EıÃ[˝”X * 12 
 Discuss matrix-inversion method. 

d) È[˝„V◊`Eı aÁc˜Á„^ÓÃ[˝ Âl˘‰y ◊TˆX ZgıÁ„EıÃ[˝ ]„Qˆ_◊ªRÙO %Á„_ÁªJÙXÁ EıÃ[˝”X * 12 
 Discuss 'three-gap' model in case of foreign aid. 

e) EıÁ]Ó LXaeFÓÁ [˝_„Tˆ Eı› Â[˝Á„MıX ? LXaeFÓÁ [˝ ◊à˘Ã[˝ =YÃ[˝ %UÔÍX◊TˆEı =~Ã^„XÃ[˝ Y“\ˆÁ[˝◊ªRÙO %Á„_ÁªJÙXÁ 

EıÃ[˝”X * 2 + 10 
 What do you mean by optimum population ? Discuss the effect of economic 

development on population growth. 

f) ÿëˆ„îÁ~Tˆ ÂV„` G–Á] ÂU„Eı `c˜„Ã[˝ `“] ÿöˆÁXÁ‹ôˆÃ[˝„SÃ[˝ ◊YªK˜„X ^«◊N˛◊ªRÙO Eı› ? Ac˜O Y“a„Ü ÊªRÙOÁQˆÁ„Ã[˝Á ]„Qˆ_◊ªRÙO 

[˝ÓÁFÓÁ EıÃ[˝”X * 4 + 8 
 What are the arguments behind migration of labour from rural to urban areas in 

less-developed countries ? In this context, explain Todaro model. 

  

Y“U] =w¯Ã[˝ / First Answer : 
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◊•Tˆ›Ã^ =w¯Ã[˝ / Second Answer : 
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T ˆTˆ›Ã^ =w¯Ã[˝ / Third Answer : 
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3. Â^-ÂEıÁ„XÁ ªJÙÁÃ[˝◊ªªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX ( Y“◊Tˆ◊ªRÙO %X◊W˝Eı 90 `„å ) f  6 × 4 = 24 

 Answer any four questions  ( not more than 90 words each ) : 

a) a«b] a] ◊à˘Ã[˝ W˝ÁÃ[˝SÁ◊ªRÙO [˝ÓÁFÓÁ EıÃ[˝”X * Ac˜O =~Ã^X ÂEıÏ`„_Ã[˝ ◊[˝◊\ˆ~ \ˆÁbÓm◊_ Eı› Eı› ? 2 + 4 
 Explain the concept of balanced growth. What are the different versions of this 

development strategy ? 

b) AEı◊ªRÙO ZıÁ„]ÔÃ[˝ Â]ÁªRÙO ÂÃ[˝◊\ˆ◊X= %„Yl˘Eı◊ªRÙO 2
3
25)( xxxR +=  c˜„_ ZıÁ„]ÔÃ[˝ (i) ªJÙÁ◊c˜VÁ %„Yl˘Eı C 

(ii) Y“Á◊‹ôˆEı ÂÃ[˝◊\ˆ◊X= ◊XSÔÃ^ EıÃ[˝”X * 6 

 Total revenue ( R ) function of a firm is 2
3
25)( xxxR += . 

 Derive (i) the demand function and (ii) the MR of the firm. 

c) 
13

30
+

=
p

q  ªJÙÁ◊c˜VÁ Ã[˝FÁÃ[˝ p = 3 ◊[˝≥V«„Tˆ VÁ]GTˆ ◊ÿöˆ◊TˆÿöˆÁYEıTˆÁÃ[˝ ]ÁX◊ªRÙO ◊XW˝ÔÁÃ[˝S EıÃ[˝”X * 6 

 Find out the value of price elasticity of demand of the demand function 
13

30
+

=
p

q  

at  p = 3. 

d) ]…_W˝X-◊X◊[˝QÕˆ =dYÁVX Y“^«◊N˛ EıÁ„Eı [˝„_ ? ÿë̂ „îÁ~Tˆ ÂV`m◊_Ã[˝ Y„l˘ Ac˜O =dYÁVX-Y“^«◊N˛ G–c˜S 

EıTˆªRÙOÁ [˝Áÿôˆ[˝a∂ˆÇTˆ c˜„[˝ ?  2 + 4 
 What is capital-intensive technique of production ? How far would it be practicable 

for less-developed countries to accept this technique of production ? 

e) LÁTˆ›Ã^ %ÁÃ^ ( Y ), Â\ˆÁG ( C ) A[˝e Â]ÁªRÙO EıÃ[˝ ( T ) a]›EıÃ[˝Sm◊_ ◊X∂oˆÃ[˝÷Y  f 
 oo GICY ++=       C = a + b ( Y – T )   [ a > 0,  0 < b < 1 ] 

 T  =  m + ny  [ m > 0,  0 < n < 1 ] 

 aÃ[˝EıÁ◊Ã[˝ [˝ÓÃ^ mSEı◊ªRÙOÃ[˝ ]ÁX ◊XW˝ÔÁÃ[˝S C [˝ÓÁFÓÁ EıÃ[˝”X * 6 
 Equations for national income ( Y ), consumption ( C ) and total tax ( T ) are as 

follows : 
 oo GICY ++=     C = a + b ( Y – T )     [ a > 0,  0 < b < 1 ] 

 T  =  m + ny  [ m > 0,  0 < n < 1 ] 
 Derive the value of government expenditure multiplier and explain it. 

f) AEı◊ªRÙO =VÁc˜Ã[˝S ac˜„^Á„G Y◊Ã[˝[˝c˜X a]aÓÁ◊ªRÙO %Á„_ÁªJÙXÁ EıÃ[˝”X * 6 
 Discuss, with example, the transportation problem. 

g) LÁTˆ›Ã^ %ÁÃ^ ( Y ), Â\ˆÁG ( C ) A[˝e ◊[˝◊X„Ã^ÁG ( I ) a]›EıÃ[˝Sm◊_ ◊X∂oˆÃ[˝÷Y  f 
 ttt ICY +=     1−+= tot bYCC     [ 0 < b < 1 ]   ot II =   

 %Á„Ã^Ã[˝ a]Ã^YU◊ªRÙO ◊XW˝ÔÁÃ[˝S EıÃ[˝”X C TˆÁÃ[˝ TˆÁdY^Ô [˝ÓÁFÓÁ EıÃ[˝”X * 6 
 Equations for national income ( Y ), consumption  ( C ) and investment ( I ) are as 

follows : 
 ttt ICY +=     1−+= tot bYCC     [ 0 < b < 1 ]   ot II =   

 Derive the time-path of income and explain its implications. 
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h) =dYÁVX %„Yl˘Eı◊ªRÙO 2
2

2
1 xxq =  A[˝e =dYÁVX› =YEıÃ[˝Sm◊_ ),( 21 xx -Ã[˝ ]…_Ó ^UÁy‘„] 

21 =r  A[˝e 42 =r  c˜„_ ◊[˝ÿôˆÁÃ[˝ YU◊ªRÙO ◊XSÔÃ^ EıÃ[˝”X * 6 

 Given that 2
2

2
1 xxq = , 21 =r , 42 =r , where 1r  and 2r  are prices of two inputs 1x  

and 2x  respectively and q is the level of output. Derive the expansion path. 

  

Y“U] =w¯Ã[˝ / First Answer : 
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◊•Tˆ›Ã^ =w¯Ã[˝ / Second Answer : 
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T ˆTˆ›Ã^ =w¯Ã[˝ / Third Answer : 
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JÙT«ˆUÔ =w¯Ã[˝ / Fourth Answer : 
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